ORDER CONFIRMATION



Dulles John Sterling

Your reference number: 1

Leuven, 26 january 2014

Dear John,

Thank you for shopping at.

Your order has reference number 1. Keep this number and this confirmation with you when contacting us.

Please find enclosed a detailed summary of your order.

We hope you enjoy your purchase!

United Codes: APEX Office Print

Orders from Batch: **1**Total Products : **4**Category: **Mens**

- Business Shirt
- Trousers
- Jacket
- Mens Shoes

The total amount of your order is €1060.

Appendix: Summary of your order with reference number 1

Product	Image	Unit Price in €	Quantity	Extended Price in €
Business Shirt			3	150
	47	white 50		
Trousers			3	240
	N	white 80		
Jacket		red 150	3	450
Mens Shoes		red 110	2	220

€1060

Orders from Batch: 2
Total Products : 3
Category: **Womens**

- Blouse
- Skirt
- · Ladies Shoes

The total amount of your order is €660.

Appendix: Summary of your order with reference number 1

Product	Image	Unit Price in €	Quantity	Extended Price in €
Blouse		white 60	3	180
Skirt		Willie 00	3	240
		white 80		
Ladies Shoes	1	red 120	2	240

€660

Orders from Batch: **3**Total Products: **3**Category: **Accessories**

- Belt
- Bag
- Wallet

The total amount of your order is €660.

Appendix: Summary of your order with reference number 1

Product	Image	Unit Price in €	Quantity	Extended Price in €
Belt	S		2	60
		white 30		
Bag		red 125	4	500
Wallet			2	100
	-	white 50		

€660

 $^{(\}mbox{\ensuremath{^{\ast}}})$ This product is currently not in stock, your order may be delayed.